



Vendor Ranking Page 1 of 1

Letting: 03230914 September 14, 2023 10:00 **Call Order:** 005 **Contract:** E3X23

ΑM

District: District 3 Counties: DIST/ST-WIDE, WALTON Fed Aid No: N/A

Contract Time: 60 CALENDAR DAYS

Project(s): 42214337231 (*)

Contract Desc: PONCE DE LEON MAINT - FENCE-GATE- AND TREE REMOVAL AT PONDS

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	COLLINS LAND SERVICES, INC	Responsive	Winning bid	\$146,075.00	100.00%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 4

Letting:03230914September 14, 2023Call Order:005Contract:E3X23District:District 3Counties:DIST/ST-WIDE, WALTONFed Aid No: N/A

Contract Time: 60 CALENDAR DAYS Project(s): 42214337231 (*)

Contract Descr: PONCE DE LEON MAINT - FENCE-GATE- AND TREE REMOVAL AT PONDS

The Improvements under this Site-Specific Contract consist of the repair of existing Type B vinyl coated fence, removal/replacement of slide gates with double swing gates and the resetting of existing swing gates as needed at retention

ponds located in Walton County along SR 30 (US 98) and SR 83 (US 331). Work also includes tree and brush removal, clearing and grubbing at dry bottom ponds and the repair of eroded areas within the fenced limits as indicated in the

Appendices. Maintenance of Traffic and Mobilization will be incidental to the pay items listed.

Appendices Maintenance of Frame and Medicater					, ,				
Line No / Item ID Item Description		Alternate (Quantity Units	(1) COLLINS LAND SERVICES, INC					
() inc	dicates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (5	SODDING (SY						
0005 FENCE POST A	0550 15 21 REPAIR, TYPE SSY	B, CORNER	7.000 AS	1,000.00000	7,000.00				
0010 FENCE ASSY	0550 15 22 REPAIR, TYPE	B, LINE POST	18.000 AS	100.00000	1,800.00				
0015 FENCE ASSY	0550 15 23 REPAIR, TYPE	B, PULL POST	2.000 AS	1,000.00000	2,000.00				
PVC CC	0550 15 35 REPAIR, TYPE DATED GALVAN 5.1- 6.0' HEIGH		200.000 - LF	20.00000	4,000.00				
0025 FENCE 20.0' OF		, DOUBLE, 18.1	1.000 - EA	2,500.00000	2,500.00				
0030 FENCE 24' OPE		3, DOUBLE, 20	9.000 .1- EA	3,000.00000	27,000.00				



09/15/2023

Page 2 of 4

Tabulation of Bids

03230914 Contract: E3X23 Letting: Call Order: 005 September 14, 2023 (1) COLLINS LAND SERVICES, Line No / Item ID **Alternate** Quantity INC **Item Description** Units () indicates item is bid as Lump Sum **Unit Price Unit Price Unit Price Ext Amount Ext Amount Ext Amount** SECTION: 0001 (SODDING (SY 8.000 28,000.00 0035 0550 60226 3,500.00000 FENCE GATE, TYPE B, DOUBLE, 24.1-EΑ 30.0' OPENING 0040 0550 60400 5.000 500.00000 2,500.00 FENCE GATE, RESET EXISTING GATE-EΑ WITHOUT RESETTING FENCE 0045 E110 2 5.500 2,500.00000 13,750.00 **CLEARING & GRUBBING** AC 0050 E570 9 1 50.000 100.00000 5,000.00 WATER FOR GRASS & PLANTS MG 3.00000 23,250.00 0055 E575 1 7,750.000 SODDING SY 2.50000 19,375.00 0060 E577 70 3 7,750.000 SY REWORKING RETENTION POND **SLOPES** 500.00000 1,500.00 0065 E580332 21 3.000 TREE REMOVAL (4" TO 12") EΑ 0070 E580332 99 2.800 3,000.00000 8,400.00 TREE AND BRUSH REMOVAL AC

0001 SODDING (SY) Section Totals:

\$146,075.00



09/15/2023

Tabulation of Bids

Page 3 of 4

Letting:	03230914	September 14,	2023 C a	all Order: 005		Contract:	E3X23	
Line No / Item Item Description		Quantity Units	• •	AND SERVICES, NC				
() indicates item is bid as Lump Sum			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
Contract Grand Totals:				\$146,075.00				



09/15/2023

Tabulation of Bids

Page 4 of 4

Letting: 03230914

September 14, 2023

Call Order: 005

Contract:

E3X23

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.